>
A & 0l & AF 2 E A A
20198 &= =0l & LB A IIEISESIH S32AZ
SN BBAED
M ZZBAR JlY HE
el BBORIIG X4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=322 52,733,269 29,445,060 23,288,209
= 15,796,068
s 2,513,000
J| 10,455,513
< 23,968,688
S3EHadZ Il &= 30,917,110 10,059,500 20,857,610
= 13,635,557
< 17,281,553
232208 =4 510,000 213,000 297,000
SSEHAZIN S SSEHAS MG & 60,000 60,000 0
308 XX EHHSOIA 60,000 60,000 0
10 SII 2 SOICHeHE & X 2 E A I 60,000 60,000 0
O=stga g eI 2eANMAH 2= 60,000
S3229= dEZXH 10,000 10,000 0
201 Let249] 10,000 10,000 0
01 At 22l 10,000 0 10,000
O332Ho= dEXIH 10,000
A== SSHXNIMAHA += 125,000 125,000 0
308 XX EHSOIA 125,000 125,000 0
01 HIXNHHNBNEES 125,000 125,000 0
2AHAZ =X SENIHMA 7= 125,000
32z MY e u=s 15,000 18,000 A 3,000
201 L2l 15,000 18,000 A 3,000
01 At 22l 15,000 18,000 A 3,000
oOzs2d=JI& HNE e W= 15,000
S32HYENIAH 29 300,000 0 300,000
307 21201 A 300,000 0 300,000
05 RIZt2IEt = 300,000 0 300,000
OZ2Z22H=XN3aH 24 300,000
32z 0/2 2HAE 30,407,110 9,846,500 20,560,610
= 13,635,557
< 16,771,553
Agezd e =8 2,161,000 2,161,000 0
201 Let249] 29,000 29,000 0
01 At 22/l 29,000 29,000 0
Oz JdZFIME =raaE N3 29 S 29,000
202 Od4dl 12,000 12,000 0
01 = LH o4 1 12,000 12,000 0
OXLYzd ZIMH =& 12,000




AR =
M ZZBAR JlY HE
Sl BBARIIT SYX CERED
= s
SN BB (EH) - HRAY - BES 0 &t il HI DS
306 2= 2,000,000 2,000,000 0
01 &= 2,000,000 2,000,000 0
OXNLII=eN &3 N 2,000,000
307 21201 A 120,000 120,000 0
02 It HAMAEE 120,000 120,000 0
OFEHUASA 25Td=s KA 120,000
SAHYZ R OIFASE ALY 200,000 0 200,000
401 AIEBIZ 2 HYI 200,000 0 200,000
01 A& HI 200,000 0 200,000
OHXAZE 0™ = AtY 200,000
X8R A0 AEIs B 80,000 0 80,000
308 MHXItHMS0H 80,000 0 80,000
01 XM EES 80,000 0 80,000
O=xx22d A0 AZIs 22 80,000
Ngoz2d JIsE2 A (=21) 26,904,000 6,400,000 20,504,000
= 13,452,000
=) 13,452,000
402 212t A= 01 & 26,904,000 6,400,000 20,504,000
= 13,452,000
=) 13,452,000
02 QAT 2AMLEE(0IXTHE) 26,904,000 6,400,000 20,504,000
OXNgAZ2d JsEBZAY 11,614,000
= 5,807,000
< 5,807,000
OFF2AZd HESEE AY 15,290,000
= 7,645,000
=) 7,645,000
AL @ HIAZEAAH MRS Hg & DES 185,620 569,000 A 383,380
(=2)
= 92,810
< 92,810
402 2I2tXE=01 & 185,620 569,000 A 383,380
= 92,810
< 92,810
01 (IRt 2AILE X (XA 185,620 0 185,620
OXNYAZ HAZEANLE IA=AY 185,620
= 92,810
& 92,810
ZOQIEMEASE JIsEZ(=1) 302,490 716,500 A414,010
= 90,747
& 211,743
402 BI2FX=01 M 302,490 716,500 AN414,010
= 90,747




2N
X ZH -
L= B

el

32z
S3EH9g JEt &5
S3Az0|2 2ENE

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 211,743
02 U EALEZ(0IETHR) 302,490 716,500 A 414,010
OZACMHELER JIsEY 302,490
= 90,747
< 211,743
Z2EAZE sYAHelEy 2N 204,000 0 204,000
307 21201 A 204,000 0 204,000
02 QIAFAANFEX 204,000 0 204,000
0= SUALYY SN 204,000
ZEAZE AT cl22E A 370,000 0 370,000
402 2I2H X201 M 370,000 0 370,000
01 212t 2 A E = (REMTH ) 370,000 0 370,000
O ZEAZE FdlAE 222 14 370,000
SEHAXN L FHAAHES Azt 25t 11,581,790 9,671,320 1,910,470
= 1,606,511
J| 6,765,755
< 3,209,524
o HAX K& 6,958,542 6,495,064 463,478
= 1,578,511
J| 4,015,031
S 1,365,000
FEOHFAX KA (QLAH)(=1) 1,920,000 1,680,000 240,000
= 1,200,000
< 720,000
308 AHAIEHHSOIA 1,920,000 1,680,000 240,000
= 1,200,000
< 720,000
01 HIXNHHNBNEES 1,920,000 1,680,000 240,000
FOHH X XA (QAH]) 1,920,000
= 1,200,000
< 720,000
O HAX XA (A0OtEAED Q12AH) (= 1) 400,000 400,000 0
= 250,000
< 150,000
308 XXM SOIA 400,000 400,000 0
= 250,000
< 150,000
01 AXHHISEES 400,000 400,000 0
O2AZFHAX XAAS(LIA4H]) 400,000
= 250,000
< 150,000
OtMBE S 4 ol gt 2= 50,000 200,000 A 150,000
308 MtXIEHSOIH 50,000 200,000 A 150,000




N B3
Bu: 2N U HANS ARAHY D3
ol =2 FAX KA (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 AXSHHBLEES 50,000 200,000 A 150,000
OnSIE YN GFE B4 X 50,000
o HAX zetdY XA 200,000 200,000 0
308 AXIEtH S0l A 200,000 200,000 0
01 IXNHHBANEES 200,000 200,000 0
oz 23 XA 200,000
FAXNS S3Ad=zdH XA (22) 495,000 660,000 A 165,000
J| 495,000
307 21201 A 495,000 660,000 A 165,000
| 495,000
02 IS AMHEL 495,000 660,000 A 165,000
OFAUX S=d=zdH 22X 495,000
| 495,000
FAX AAHE UWERKRID 2H(=21) 74,980 153,000 A 78,020
| 74,980
307 glz2tol & 74,980 153,000 A 78,020
| 74,980
02 IZtE M AHE X 74,980 153,000 A 78,020
OF AKX AAEE HERIT = 74,980
| 74,980
FaXd s39=20& XA (=210) 2,706,429 2,891,000 A 184,571
| 2,706,429
308 XXIEtH S0l A 2,706,429 2,891,000 A 184,571
| 2,706,429
01 IXNHHBNEES 2,706,429 2,891,000 A 184,571
OFHAUX S=2d=J12 22X 2,706,429
J| 2,706,429
S298 DEHAXA KNI (dHA=012 XN )(= 176,470 264,000 A 87,530
2)
| 176,470
308 XXM S0 A 176,470 264,000 A 87,530
| 176,470
01 AXNSHHBAEES 176,470 264,000 A 87,530
ogdozII& X 176,470
J| 176,470
S392 DEFHAXNY XN (25 mA)(=1) 162,152 47,064 115,088
| 162,152
307 21201 A 162,152 47,064 115,088
| 162,152
02 QIZHE A ASE X 162,152 47,064 115,088
ozsz ol ItA 162,152
| 162,152




2N SZ222A2H
HE: oRHAUK L HAHE A2HHY A5
&l =2 HAX XA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
BAAZI& ICT 8 X AL(XNAAM X) (=2 83,511 0 83,511
)
= 83,511
308 XXM SOIA 83,511 0 83,511
= 83,511
01 AXHHILEES 83,511 0 83,511
OX XA K& 83,511
= 83,511
BAASZIZ ICT 28 & AL (LIZMEHA X 90,000 0 90,000
2)(=3)
= 45,000
< 45,000
307 glz2+ol & 90,000 0 90,000
= 45,000
< 45,000
02 HAFHAANGFEX 90,000 0 90,000
OL3aHEEH X3 90,000
= 45,000
< 45,000
DAY A2 oEE AN (=1) 450,000 0 450,000
J| 300,000
< 150,000
308 XX EHHSOIA 450,000 0 450,000
J| 300,000
< 150,000
01 HXNHHBHELS 450,000 0 450,000
O1NRAY &2 X¥FE XN 450,000
J| 300,000
< 150,000
SHYYUIA SSEAMGNA(LIATHLERLY 100,000 0 100,000
al)
J| 50,000
= 50,000
307 21201 A 100,000 0 100,000
J| 50,000
< 50,000
02 QItFAAHE X 100,000 0 100,000
OLJACTEHILELLYEA 100,000
J| 50,000
< 50,000
SEHYYHA SSEBAMNINA(EIANAHEZHA) 50,000 0 50,000
J| 50,000
308 AHAIEHHSOIA 50,000 0 50,000
J| 50,000
01 HIXNHHNBMNEES 50,000 0 50,000




2A: 2222
o BHAK L HANS ASAHFY 25
Rl o2 F X XA (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OFEHAN L ABHRA 50,000
J| 50,000
S 2FAHS A& 4,623,248 3,176,256 1,446,992
= 28,000
J| 2,750,724
= 1,844,524
& X Ol Hl L THOY 22 X (LEX o 2H|)( 1,405,094 940,694 464,400
27)
Dl 1,170,912
o= 234,182
308 XAHXIEHSOIA 1,405,094 940,694 464,400
J| 1,170,912
& 234,182
01 AIXSHMENEX= 1,405,094 940,694 464,400
OAstI o=l 1,405,094
J| 1,170,912
& 234,182
otEL X o2 2 MOt 22 XK (MItestXt 22]) 41,304 31,311 9,993
(22)
J| 41,304
308 XX SHHSOIH 41,304 31,311 9,993
J| 41,304
01 AIXSHMENEXZ 41,304 31,311 9,993
OMItS &AL 22l 41,304
J| 41,304
=2Jt2e] NAA KR (LU= SSAXAMME KR 200,000 90,000 110,000
(27)
J| 100,000
& 100,000
307 QI2t0| ™ 200,000 90,000 110,000
J| 100,000
o=} 100,000
02 QI2tAAMAIE E =X 200,000 90,000 110,000
OAME=I S X ANAE XS 200,000
J| 100,000
& 100,000
2ot ANAA XN (L2dXRH X)) (=212) 1,618,210 882,526 735,684
J| 1,348,508
= 269,702
308 XHXIEHSOIA 1,618,210 882,526 735,684
J| 1,348,508
= 269,702
01 AIXSHMEMNEX= 1,618,210 882,526 735,684
oA &Y XA 1,618,210
J| 1,348,508
= 269,702




2322
DFHAK L HANUS DAY L3
EE B E I CERED
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
2otg2el NXH XN (NESHH X)) (22) 180,000 167,572 12,428
J| 90,000
< 90,000
307 gl2tol & 180,000 167,572 12,428
J| 90,000
< 90,000
02 It HAHE L 180,000 167,572 12,428
OXNGgdH XA 180,000
J| 90,000
< 90,000
2022X S A=A (=) 40,000 44,000 24,000
= 28,000
< 12,000
307 glz2+0l & 40,000 44,000 24,000
= 28,000
< 12,000
01 22724l 40,000 44,000 A 4,000
0L=22X S A XA 40,000
= 28,000
< 12,000
MOt H &R 2l2H XIT& 400,000 400,000 0
308 MHXIEHMSOIH 400,000 400,000 0
01 X HHILEES 400,000 400,000 0
OMIZXH L ASEX 2=l 400,000
Sk gle 84 29 727,440 606, 153 121,287
308 A EHHSOIA 727,440 606, 153 121,287
01 HXNHHNBHELS 727,440 606, 153 121,287
O2sht gl= 2423 K& 727,440
J101E g4dst 11,200 14,000 A2,800
307 glz2+ol & 11,200 14,000 A2,800
02 It MAMHEE 11,200 14,000 A2,800
OFIIJIE 88 & &F 11,200
Z OF S AHEIA &S 4,394,403 4,999, 385 A 604,982
J| 3,202,758
= 1,191,645
S=9g e &5 4,026,563 4,471,245 AN 444 682
J| 2,987,430
) 1,039,133
SSASNAHMEH 29I (=21) 150,800 171,700 220,900
J| 75,400
< 75,400
307 glz2+ol & 150,800 171,700 220,900
J| 75,400




N B3
MM A0 ARMHIA BE
ohelr S392 oot &5 (cho &)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 75,400
02 RIZFE MM E X 150,800 171,700 A 20,900
o222daXddy 23l 150,800
J| 75,400
= 75,400
SSAS0SHA XA (=12) 3,100,000 3,000,000 100,000
| 2,170,000
= 930,000
307 21201 A 3,100,000 3,000,000 100,000
| 2,170,000
< 930,000
02 QItFAAHE X 3,100,000 3,000,000 100,000
OJE&E 3=z dg2d)| 224l 3,100,000
| 2,170,000
< 930,000
AHAM=E S SSHI LWEHX(21) 67,466 100,000 AN 32,534
| 33,733
< 33,733
307 012+0I & 67,466 100,000 A 32,534
| 33,733
< 33,733
05 RIZHRI & 3 67,466 100,000 AN 32,534
OtHAM= S S2HMX WIKH XA 67,466
| 33,733
< 33,733
S3A20/& o2 e Bx3(=21) 648,955 1,101,000 AN 452,045
| 648,955
307 2Iz2t0ol A 648,955 1,101,000 AN 452,045
| 648,955
02 QAFHAANGFEE 648,955 1,101,000 A 452,045
oNEsS=da A 2SN 56,000
J| 56,000
OHIFARX 222012 24X & 592,955
| 592,955
AsAaEs2a) 23 NA(=21) 29,342 84,000 A 54,658
| 29,342
403 XAXISH M S K201 A 29,342 84,000 A 54,658
| 29,342
01 XXM A2E = 29,342 84,000 A54,658
onsaEEAI B2 XA 29,342
J| 29,342
S22 0| BSHZAUXNA(2CIUIOIE)(=1) 30,000 0 30,000
| 30,000
307 21201 A 30,000 0 30,000
| 30,000




2N BBOIED
M WL20l ARMYIA 2B
©el: 2308 Ama 3

A BB E(E) - HRAY - BES 0l &k o4 il Hl D&
02 HAFHANGEEX 30,000 0 30,000
© 82 20ulole erHdl X 30,000
J| 30,000
Helg MAR= 367,840 528,140 A 160,300
J| 215,328
=) 152,512
A W=z X& 16,800 16,800 0
202 044l 9,000 9,000 0
01 SLHOYI 9,000 9,000 0
omMtss2d= A=A 9,000
307 21201 A 7,800 7,800 0
02 (It HAMAEE 7,800 7,800 0
OMHAZXNAXE 29 7,800
AEUSE 2R/ (=12) 25,200 25,200 0
J| 25,200
308 X EHSOIA 25,200 25,200 0
Jl| 25,200
01 HXNHHBMNEELS 25,200 25,200 0
OXS MHHSEES2AE2E 2SS 25,200
J| 25,200
HeNEga 2 (=2) 189,800 200, 100 A 10,300
J| 94,900
=) 94,900
307 glz2tol & 189,800 200, 100 A 10,300
J| 94,900
=) 94,900
02 I HAMAEE 189,800 200, 100 A 10,300
OTWHE HAZ MG X 2EXNA 189,800
J| 94,900
< 94,900
o A4 22 (20) 136,040 136,040 0
J| 95,228
< 40,812
307 glztol & 136,040 136,040 0
J| 95,228
< 40,812
02 UANHFHAEEE 136,040 136,040 0
oML 22828 RHSAL 2 136,040
J| 95,228
=) 40,812
222 BUEH AHlA W3 5,383,582 4,248,853 1,134,729
= 554,000
s 2,513,000
J| 487,000




2N SZ222A2H
A Az ZANEH MElA W3
ool QUBAX CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,829,582
SUEHAXE 5,383,582 4,248,853 1,134,729
= 554,000
s 2,513,000
J| 487,000
< 1,829,582
ROt dHReln 29 123,000 120,000 3,000
308 AHAIEHHSOIA 123,000 120,000 3,000
01 HIXNHMBMNEELS 123,000 120,000 3,000
O2AZFHARX AR =3 &= 123,000
PRr+50 d2Ha XA 6,160 6,160 0
307 glztol & 6,160 6,160 0
04 QIZFHALAIH E = 6,160 6,160 0
ORs+R0t S X 6,160
st Azze XH 825,000 825,000 0
308 XXIEHHSOIA 825,000 825,000 0
01 X HHILEES 825,000 825,000 0
o4tz A2 zel XA 825,000
A2 Ao AZ2e 2REs A& 463,000 463,000 0
308 XX EHH SOl A 463,000 463,000 0
01 HXNHHNBHEELS 463,000 463,000 0
O&E pldor Az 2RYs N2 463,000
AR AMO A2 22X (=) 2,717,222 1,275,950 1,441,272
s 2,513,000
< 204,222
308 XX EHSOIA 2,717,222 1,275,950 1,441,272
s 2,513,000
< 204,222
01 HIXNHHBNEES 2,717,222 1,275,950 1,441,272
OoualMot Az 2el X 2,717,222
s 2,513,000
< 204,222
LA 22 AlsHl X2 (21) 38,760 126,000 A87,240
J| 32,300
< 6,460
308 XtXIEHH SO0l A 38,760 126,000 AB7,240
J| 32,300
< 6,460
01 AXHHILEES 38,760 126,000 287,240
odysEs K& 38,760
J| 32,300
S 6,460




SN BBAED
HzM: A=2 DIE2AH AHlA A2
o4 SUEHXA (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
SXNEAHAIY EX0SEH|(=21) 24,360 39,240 A 14,880
J| 20,300
& 4,060
308 XAHXIEHSOIA 24,360 39,240 A 14,880
Jl 20,300
= 4,060
01 AIXSHMENMNEX= 24,360 39,240 A 14,880
ORXNEHAIY BXolady| 24,360
J| 20,300
=} 4,060
E=ENEHSE(21D) 6,240 6,240 0
J| 5,200
& 1,040
308 XNXIGHSO0l& 6,240 6,240 0
J| 5,200
& 1,040
01 HXHHBIMNEXS 6,240 6,240 0
EE2NE8244+F M 6,240
J| 5,200
= 1,040
HAGEMD 92H XK (=1) 12,240 24,480 N 12,240
J| 10,200
=} 2,040
308 XX SHHSOIH 12,240 24,480 N 12,240
J| 10,200
= 2,040
01 AIXSHMENEXZ 12,240 24,480 AN 12,240
OFAEMD O =HI K& 12,240
J| 10,200
= 2,040
DIABYMRAEH XV (2D) 145,200 138,000 7,200
J| 121,000
= 24,200
308 XHXIEH SOl A 145,200 138,000 7,200
J| 121,000
& 24,200
01 AIXSHHENMNEX= 145,200 138,000 7,200
ON/AE A AE oS HI XS 145,200
J| 121,000
& 24,200
Ol=0F 2 AFA0IAO0F 92H| XN (=2D) 207,600 248,400 A 40,800
J| 173,000
& 34,600
308 MXISHHMSOIA 207,600 248,400 A 40,800
J| 173,000
& 34,600




2A: 2222
HzM: A=2 DIE2AH AHlA A2
ol QTR AN (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 AIKSHMEAMNEX= 207,600 248,400 A 40,800
O0l=0Ft & S H0IA0F 2EHI K& 207,600
J| 173,000
o= 34,600
SESEAIOIA 2 A & Sor2el(=21) 91,200 172,800 A 81,600
J| 76,000
& 15,200
308 MXISHHMSOIA 91,200 172,800 A 81,600
J| 76,000
& 15,200
01 AXHHIMNEXS 91,200 172,800 A 81,600
O LU AIOI A Z A & EH0F2t2] 91,200
J| 76,000
& 15,200
AAMOF HE X)X (=2D) 58,800 20,400 38,400
J| 49,000
= 9,800
308 XX SHAHSOIH 58,800 20,400 38,400
J| 49,000
o= 9,800
01 AIXSHMENEXZ 58,800 20,400 38,400
OA MO} LA D& 58,800
J| 49,000
= 9,800
HAES JIHH ZHES N (=2D) 664,800 719,183 AN b4 383
= 554,000
& 110,800
308 XHXIEHSOIA 664,800 719,183 A b4 383
= 554,000
o=t 110,800
01 AIXSHHEMNEXZ 664,800 719,183 AN b4 383
OMASE JIMAH & ZHER A& 664,800
= 554,000
= 110,800
dHSHAY (B22A= 1) 32,884 32,002 882
Jleddl 32,884 32,002 882
EA2Y 2234l 32,884 32,002 882
201 2Et24Hy| 21,484 20,602 882
01 AP 22| d| 21,484 20,602 882
OFMESY JI=22ZHl 21,484
202 044 8,400 8,400 0
01 2L I 8,400 8,400 0
EAN2Y 20 8,400
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